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© W@ - @ e

15. W = o, 9=F, S, B, [T S FRO wRafia T8 N § 3% g wey ¥ 2
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g . its height is 7 cm. If one of the
21.  The area of the trapezium is 105 cm” an ¥ £ th Paraljy .
3 sum o . ¢
1 sides is longer than the other by 6 ¢ then the © Paralle] Sideg
s :
(A) 25 (B) 30
(C) 85 - (D) 40 -
T g A 105 em? § @ T O 7 om ¥1 AR TR s
’ A T o e o R 6 om A §, A WER G F AT I )
(A) 25 (B) 30
(C) 35 (D) 40
22, If one cubic metre of ice weighs 720 kg, then the weight_ﬂf a cuboidal block
of ice 50 cm in length is : ; |
(A) 75 (B) 80 go -
©_ 85 D) 90 o
qR T T AR A F UK 720 kg ¥, W 50 om wE T IE B T AF H
YR 1 gm 2 | :
(A) 75 (B) 80
(C) 85 (D) 90
23. A shopkeeper allows a discount of 10% to its customers and still gains 20%
on a product. If the cost price of the product is Rs. 450, then the marked. 1
price is : ‘ -
lo f Q¢ :
(A) 500 | (B 540 g}
(C) 600 _ (D) 640 - , (4
@ga;ma:ﬁmﬁmﬁﬁlﬁ%ﬁqaamgwﬁt ﬁwmmm%;ﬁ'ﬁl‘*
| FI] 39§ &1 Y i
FHT TS0 &, & ol qeg & ¢ | -
Lo (B) 540 -
yfn‘ | R
(C) 600 ®) 640 7~ vi© A “. \ i 1 ]
/
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24. The mean of a, b, ¢, d and e is 28. If the mean of @, ¢ and ¢ s 94 th
» YI€N mean

of b and d 1is :
A) 31 (B) 32
©) 33 . (D) 34

a, b,c,d 3R e 1 WA 28 ¥l A a, ¢ 3R e F1 A 24 ¥, A b iR d 7 1y

Y2
A) 31 (B) 32
©) 33 D) 34

25. In a cricket match, a batsman hits a boundary 8 times out of 42 balls he played.

The probability that he did not hit a boundary is : -
& o - B) 5 - Ty
12 | 10
© = =
= | | D) o
Wﬁﬁﬁzﬁaﬁ,waﬁﬁm%mﬁﬁﬁﬂam%ﬂm'mmaﬁgm
R | v
a4
; | } . -
A4 — 2 '
= (B) o }_,,_{';.
© 5= D 51
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26. The arithmetic mean and mode of a data are 24 and 12 respectively, then its
median is :
(A) 18 (B) 20
(C) 22 D) 25
fet 221 1 arithmetic mean 3% mode 24 3 12 E, @ 3961 median F % ?
(A) 18 (B) 20
(C) 22 ' ' (D) 25
27.  Mina buys a fish from a shop for her aquarium. The shopkeeper takes out one
fish at random from a tank containing 5 male fish and 7 female fish. The probability
that the fish taken out is a female fish is :
2 5
@ & ® 13
6 : ’ 1 |
(C) 12 (D) 12
#3193 RAREN & AT T gHH 9 Th w9l @ledl §1 SHEMER 5 TR Tofed &t
7 TR v oI TH 3 U ARG w9 A T Hoel. e ¥ Freeh T woe
® W Hod @9 F OAEE § '
2 5
® 1 N B) 15
: 5 .
(C) o (D) 19
| .
| T.B.C. : RT/CPN/2025_33 8
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28.

29.

30.

Google Play

If two acule angles of a right-angled triangle are equal,

then each acyte
angle is : , .
(A) 30° B) 45° &}\ I
(C)~ 60° (D_L, 90°
R TR TR e @ @ = W e g, W = W "‘”‘5
(A) 30° (B) 45°
(C) 60° (D) 90°

A bus travels first 100 km at a speed of 100 km/h. It covers next 15{} km at
a speed of 90 km/h. The average speed of the bus is :

(Ay 93.75
' (EL 115.50

fa " e

(B) 11325 - ¢o
: (D) 117.75

T 99 Yeel 100 Tt 1 amn 100 ferd/sa ) it @ s 1 T2 e 150 fedt

W A 90 fEd/de w9 v A S 2 aw S simg g T E 2

. 4
(A) 9375 (B) 113.25 - o fted =

. - rj_'ﬂ
(C) 11550 : (D) 117.75. - —
| : -integers, and
The number 0.00273 in the form %, where p and g are inicge |
g#0, is :

¢

. ' T 0002 73
271 -
. 261 | ‘
(A) m _ '. E | (B) 99000 : _ 4 _r_ [ 4
- 0,291
2 _
) 553—;5 o D) 95000
. , %
- y > 3:]‘(( q?‘-o Gl
fa‘a‘mﬁmo.ﬂmﬁ%,ﬁmpaﬁﬁqi“‘[*%' _
26 2L
(A) E'QH[% | (B) 39000
291

LB, RT/CP/1/2025—B _ ’
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31. In decimal form, 16 equals :
(A) 4.0625 (B) 4.0725 w.®
(C) 4.0655 | (D) 4.0175 UW\‘
fﬁ‘{ .
\ P20
TYHEE w9 H E IR ol B
(A) 4.0625 " (B) 4.0725
(C) 4.0855 (D) 4.0175

32. . The sum of length, breadth and height of a cuboid is 20 cm and the length
of its diagonal is 10 cm. The surface area-of the cuboid is :

(A) 280 . . (B) 300
(C) 320 (D) * 340

TF T4 & &ar, ﬁl@éﬁnﬁaﬁmﬁnzuﬁ%ﬁ@ﬁﬁﬁm
10 W &1 W W YEE AAwE ¥

(A) 280 (B) 300
(© 320 (D) 340

33. A rectangular sheet of paper 88 cm (length) and 28 em (breadth) is rolled along
its length and a cylinder is formed. The radius of the eylinder is :

(A) 11 ' @ 14 e o
' gl <2,
© 16 o) 29

88 ¥t () aﬁtﬁﬂﬂn}(ﬁsﬁ)aﬁﬁ@mﬁmwﬁaﬁzﬁﬁw
F oI YA W § SR T AR MHT T WA ¥ Jewm W forew B

(a) 11 - B 14
(C) 16 O 22
T.B.C. : RT/CP/I/2026—B 10
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34.

35.

TR
€. RMVCPI/2025—B

A shopkeeper allows i
p a discount of 209 , its customers and still gains 10%

a product. If t i
on a p he cost price of the product is Rs. 500, then the marked

price is :
(A) -683.5 (B) 6855
© _‘337-5 D) 689.5

TF THFER Wﬁﬁﬂﬁaﬁzo%ﬁiﬁém%aﬂ;ﬁmtﬁﬁmwm%qu
FA T AT IR F T [ 500 T ¥, W sifea qe9 ¥

(A) 683.5. . (B) 6855

(C) 687.5 T . (D) 689.5

If the difference of mode and median of a data is 24, then the difference of median

and mean is :

@ 8

(B) 12 | é}\

© 24 o

T fet 2 B i wifemE F AR 24 ¥, @ Wi &R me w amw

®E 2
@ g (B) 12
© 9 (D) 36
11 P.T.0.
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36.  An exterior angle of a triangle is equal to 100° and two interior .GIJPUSite angles
are equal. Then, each of these aflgles is equal to :
(A) 40° (B) 50°
© 75° D) 80°
Tl fom =1 am wo 100° % TR & Jo Q afiw wH@ B0 TR §, N
T A TAF F T Y
(A) 40° (B) 50°
© 75° (D) 80°

37.  The rational number between /5 and 3 is :
(A) 15 (B) 18
©) ‘@;‘E o Y2 ;J?T
J2 ¥R 3 & < ufiy gen & .

“ @ 15 B 18
- (C)“‘E’;‘ﬁ O Jﬁ;dﬁ
2

38. The value of 325 is :
(A) 4 (B) -5
© 8 D) 16.

2
325 & WA % :
@) 4 B) 6
(C) 8 (D) 16
T.B.C. : RT/CP//2025—B 12
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39. The curved surface area of a right circular cone whose slant height is 10 ecm

and base is 7 c¢m is :
2
(©) 260 cm? ‘ (D) 280 cm?

10 Fft frlid S ok 7 W omm A T e vE W oaw TEE e

'ﬁ;‘Tﬂ s
(A) 220 ¥R2 : B 2.0 it
(C) 260 FHZ (D) 280 ¥
. . )
4). The decimal form of 4§ is : _ _E‘i | Y:W N
_ + 1y
| . ',
; | B) 4.125
FA) 4.115 _ (B) l' '__é_'
(C) 4.185 (D) 4.145 ?/égq (Y
- T § 221
o
1 ; ) | | |
4§ 1 <99 €T © ¢ | ,ﬂ
. o
(A) 4.115 (B) 4.125
(C) 4.13b6 (D) 4.145
'BC. : RT/CP/1/2026—B 13 ; _ _—
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41. Find the wrong number in the series : u/ X £ 3
(‘m 34, 48, 6 ’ ,{5’
3L!3| 15: Ig ]\_’__j ’ §/ ) @ —_—
¢ 1910 :
(A) 8 (B) 24 _
| 5 5
© 34 @ 63 21
_ . | 38 1524 3
e H e gen W Sty L/
- 3
3, 8, 15, 24, 34, 48, 63
\
(A) 8 ' 5|
: : _ (B) 24 s f_-}__,
(C) 34 (D) 63

In the given series of letters, how many T°s are preceded and followed
by T ? |

%

PTPTTPPTPTPPPTTPTPTTPPPT
(4) Nil (B One

. (C) Nﬂ -i_t‘

"'ll. - '\-.
t-.

TRt
T.‘-

2 =

- F b
LB '.'5
gt
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CraAllAIEa -

é?{)“’hich of the images A to D is next in the sequence ?

=

@ ANR

AR

o <V

T.B.C. : RT/CP/1/2025—B
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45.

T.B.C

An aquarium contains 17 goldfish. All but eight died. How many goldfish is the

aquarium left with ?

(A) o (B) 8

(B) 8 _/ &

/ @fL
(C) .9 - V4l . M) 17 l- /

Pointing towards a boy, Mina said, “He is the son of only son of -my grandfather”
1 J & e -

How is the boy related to Mina ?

-
(A) Uncle SIS (B) Brother ¥

4
%

'(CJ Cousin (D) None of these

ﬂﬁiﬂmﬁmmﬁﬁﬁm.%? 55%)
(&) = i

(C) =0 D) ¥ F o

.+ RIYCP/1/2026—1 | 16
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e AL L. NAED e — —

If today is Wednesday, then what will be the day after 56 days ?

H{) Wednesday (B) Thursday 1
e A3
(C) Friday (D) Saturday 2k 5"'{} ¢
Ifg o1 gyER &, @ 56 A 9 wEw G AW 2 51’(’3
(A) TUER _ - (B) TEAKR
Lo~ g =T b
(C) YRR (D) WiHER
How many cubes are there in the given ﬁgure ?
™) 6
(€ 10
@ orpfa F R e E 2
G @ B 8
(Cy 10 D) 12
T.B.C. : RT/CP/1/2026—B
17 P.T.0.

e 1" et
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is father’s wife. How is A
48. A introduced B as the son of the only brother of his
related to B ? . - ;
(A)  Cousin B (B). Son
(C) Brother - (D) Uncle -
ST %1 B
AT B H e o firm 71 oot B e R B W B w9 A T A
¥R R g 2 - |
A & wE (B) T A - @.@y
T
C) wig (D) == J
. fuihs
49.  Select the related word from the given alternatives : - P J
Medicine: Patient; Education: ? - L"""ﬂ’
(A) Teacher (B) School ‘\J)
(C) Student : (D) Tuition '_ S"m
2 el § @ e v o .
fsfa: it faem: ?
(A) HuUEH (B) wd
C)- forendt | (D) ==
50.  In a certain code language, “TIRED” is written as “56” and “BRAIN” is written
as “44”. How is “LAZY” written in that code language ?
(A) 43 ; > (B) 58
©) 61 - | (D) 64 |
el e 1 v & “TIRED” %) “56” foven an % s “BRapy» B “4q” fore
¥ S FiE wm # LAZY" 3R famn w2 !
: /
(A 43 . " (B) 58 T 1Re~p 4,
: (C) 61 ; “D) 64 4 rﬂ\ \
5!"
T.B.C. : RT/CP/1/2025—B 18
IIJ r:lf] (DE_F (7 A thHﬂju}PdRS’T‘UV"

2

| SN b G2 6 ol T2 13 1Y gy g P w9 e a0/

ZT INCRT——
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51.

52.

53.

Who has invented the Mercury Thermometer ?

\(ﬁ) Daniel Gabriel Fahrenheit (B) Marie Curie

() Sir Isaae Newton D) Pierre Curie
Mercury Thermometer 1 STfawrr foed fan & 2
(A) 2w e wwemE (B) #h aqﬁ
© WEF 3 D) TR =g

Identify from the following cities, where was the first National Institute of Designs
established in India ? ' )

(A) Mumbai . 3 b, 1 (B) Ahmedabad

(C) Bengaluru | (D) Kolkata

¥ e ’
(A) T . ™ (B) ERER
(C) =TgE (D) e

The headquarters of NATO is in :

(A) Berlin _- ' . (B) Paris
(C) Athens | | _ @ Brussels
A (NATO) &1 qeae™ el & 2

() aff | . (B Y=
() i D) W

T.B.C. : RT/CP/1/2025—B - 19 v P.T.O.
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: i”, from the following :
54, Identify the author of book, “Kulut Desh ki Kahant
a Stokes
(A) Lal Chand Prarthi : (B) Vidy
Kumar
(C) Sunil Dutt Gautam (D) Shanta Ku

T W wwh ww ww $ dew W T e S :
AA) T T g

B) foen S

© T 5 iy (D) 3 FHER
55, Idept'.ify the dat;: of Internatiunal Yoga Da_',-r :

(A)  July, 10 (BlyJune, 21

(C) July, 25 I{D) June, iﬁ |

(A) 10 'ﬂﬂﬁ (B) 21 SH

€) 25 3end D) 15 5
56.  What does the abbreviation IMF stang for 2

(C) Irani Military Foree - nternatmnal Monetary Fung
IMF &1 qof &g % o -

(A) Internationag] Money Fung

(C) Iranj Military Force

T.B.C. : RT/CP/L/2025—p
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67. In which following district of Himachal Pradesh, the Kumarwah lake is

located ?
{A) Mandi (B) Chamba
(C) Kullu (D) Kangra

froeel ww & fpw frefafes 9 § sorar e fom & 2
(A) E (B) =mw=m
(C) dHee] (D) =TS

i
é@ Which following pass of Himachal Pradesh is located at the highest altitude ?

(A) Talang : -(B) Singoor

(C) Waru ' (D) Kugti

fermeer 7w o Fi Frefefen <0 oo ofts SS9 w § 2
(A) T@m (B) faQ |
€ °% - (D) HmwE

@ Identify from the following months when the Minjar Fair is held in Himachal

Pradesh ?
(A) June (B} August
(©) July | (D) September

mmﬁﬁﬂﬁf@amﬂﬁ%ﬁmaﬂﬂwﬁm%?

(A) A (B) T
(C) e (D) fiesy
T.B.C. : RT/CP/I/2025—B 921 P.T.O.
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60.

T.B.C. : RT/CP/l/2025__p

Code) ?

(A)- BNS (Bhartiya Nyaya Sanhita)
(B) BNSS (Bhartiya Nagarik Suraksha Sanhita)
(C) BSA (Bhartiya Sakshya Adhiniyam)l

(D) BSN (Bhartiya Suraksha Niyam)

ﬁa'ﬁamﬁwﬁﬁmwm(mﬁmaﬁmﬁﬂm%?

(&) N (yd =@ i) |
(B) =twiveTy. (‘Wmﬁ'q A A @%‘cﬁ)_
(C) wwEw (v g aﬁiﬁm)
(D). HTEC. (g gean firm) |

Which of the following countries emerged winner of the Men’s Hockey Asian

Championship Trophy-2024 ?
(4) China (B) TIrdia
(C) Jt;.pan (D) South Korea
mﬁﬁmw'mw’mlﬁhw-zuzymﬁamm% 2

(A) = B) wrm
(C) e (15} i

22
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62. Which of the following is the largest river of Himachal Pradesh in terms of water
. volume ?
(A) Beas (B)- Chenab
(C) " Sutlej (D) Ravi

e 2w # fretffem 3 & A 0 I B w1 S vl § T A g 2

(A) =I™ (B) Ta7m=

(G)' gaad (D) Et

63. Where is the headquarters of ‘UNESCOQ’ situated ?

(A) Gepeva (B) New Delhi
(C) Paris (D) Berlin
‘grER’ W e s W fe w2 | |
(A) S (B) ¥ feweht
© Aa : (D

64. “Vande-Matram’ is part of which of the following books ?

v (A) Geetanjali (B)- Anandmath

&.(C) Bhagwat Geeta (D) Bharat Bharti

‘g A e R e yww o R ¥ 2

(A) Tt (B) STH<HS

(C) e e (D) WRA W&

T.B.C. : RT/CP/1/20256—B 23

P.T.O.
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Who amongst the following has been awarded the Jnanpith Award-2023 7

AN Rambhadracharya ‘ (B) Gaurav Pandey |
(C) Devender Kumar (D) Nanciin‘i Sen Gupta
ﬁﬂ'ﬁﬁgﬁﬁﬂmaﬁﬁaw—m%ﬁmﬁaMW ?
® Co® hmwe
(©) W% | O) et 3

66. The capital of United Arah Emlrates,

known for its futuristje architecture ang
luxury shopping is : |

(&) Al Ain (BL- Abu Dhabi

(C) Dubai (D) Sharjah

TR 2024 1«1 m:.-.l R
A foha Ty ?

(A) Feve

(©) unm z

T.B.C. : RI/CPA/R025—p
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68.

69.

70.

Which of the following is the I.argest Monastery in Spiti ?
(Ay- Tabo | ; . (B) Lha Kun
(C) Gemur - (D) Kee
et ¥ S we oty W e 9% W 2
(A) = : B W
(C) ¥ (D) =l
In which of the following districts of H.P. a ‘Centre of Excellence’ is going to
be established under Rashtriya Gokul Mission ?
\/(r.é:) Kangra h (B) Sirmaur
@ Bilaspur _ | (D) Una
ﬁmﬁﬁma‘?ﬁﬁﬁﬁﬁwﬁrﬁﬁ Ui TR oA’ T%'d%ﬁt@? ‘TP By’
mrﬁ'a forn < ¥ 2
@ FE | . ® Rk
(©) fasmag | o o
Netaji Subhash éhandra National Institute of Sports is located in which of the

following places ?

(A) Kolkata | ~ (B) - Patiala
(C) Bengaluru I_.'D} Ahmedabad . @

et g % TS O S R § @ few o W R ¥ 2.

(A) ‘mErE, - (B) ~wfemen
(C) =IgE | (D) SERER

T.B.C. : RT/CP/1/2025—B 25 ' PTO.
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71.  You should not ......... ..... ..... the worst.
JA) assumed dé‘i’)/ assuming
(@ assume | (D) assumes

72. The teacher said, ‘Be honest.’ (Direct to. Indlrect speech)
“S/‘\) The teacher ordered me to be honest
(B) The teacher advised me to be honest.

\Q The teacher said to be honest.

:-'.-g}m,- fr":;": "'\t‘fD) The teacher asked to be honest.

. T3.  “The police arrested the thief.” (Active to Passive voice)

M) The thief is arrested by the police. 720 F°

(B) The thief has been arrested by the police.

(C) The thief wag arrested by the police.

(3) The thief will be arrested by the police.

.. Find therincorrect sentence

(_,r.r' |,h¢_,, 3;.
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67. He is best player in our team.

(A) a | B) an
(D P' article

(€ the o JT? T

76. She has only & ...cmerciseees time left before the exam.
(A) many B). little
(C) few - (D) more

77. 'This book is miﬁé, but that one iS ...ccceerecseiresens ; :
(A) /her . | | .- (B) she
(C) thei:;s (D) they

. T8 .By the next month, we shall ...... _ & tﬁe prqject._

(A) has completed . (B) compl-et{ng
(C}. completed | & . @ have completed

(@ She said, “Do you like ice cream ?” (Direct to Indirect speech)

(A) She said if I like ice cream.
JB) She asked if I liked ice cream. .
2 © She asked that I liked ice cream.

#\{D} She asked if I like ice creams.

T.B.C. : RT/CP/1/2025—B 27
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"@ He said, “May God bless you I” (Direct to Indirect speech)

() He prayed that God might bless me.

® He said that God'-‘rﬁa}‘bless mie,

.[h _ | T
((32 He told that God wﬂl bless me.

yqin
(@ He wished that God cauld bless me.

ﬂa‘ i

81.%% G‘lpan the door ! (Actwe ‘tn Passive vmce)

(A) The door is opened. l'.-;:

m E“_L t‘g m h‘ :

(B)' This work sho uld be
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g83. Identify the incorrect sentence :
(A) We are listening to music.

(,B)/They' was going to school.

o5

(C) She has completed her work.

(D) He is learning French.

@ Would you like ......

(A) some
(C) much

85.  They comemsanee
(A) buy

(C)~ bought .

g86. This IS AN seeseversssrenes

(AY” interesting
(C) sadly

T.B.C. : RT/CP/1/2025—B
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(B)

(D)

a new car last week.

(B)

(D)

(B)

(D)

29
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sugar in your tea ?

any

few

buys

buying

quickly

slowly

P.T.O.
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87.

88.

90..

From the choices given below, pick out the correct one to complete the following

sentence :

“}e would like to inform you ......ceeiiiinse .

(&) that you have béen selected for the job.

(B) that you will have been selected for the job.
(€) that you had been selected for the Job.
| {) that you are been selec_ted fm; the job.

Pick out the rightly spelt word -

(4) Allowence . (B) h/Accui'acy

(C)_ Occurrance : (&)) Commitee
Pick out the correct sentence among the following

(A4) T have lived here for ten years,

By 1 have been living here since ten years., |

C) 1 am- living here since 2014,

,ZED) I am living here for ten years,

Fill in the blank in the given sentence -

Rising prices are

universal phenomenon

. (A)- an

(B) the
(C) a

pee”

(D) None of these

T.B.C. : RT/CP/1/2025—B
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